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State two functions of
Mention two objecti lp

What is an channel?

State turo payrnent banks?

l10l
microfinance in India.

banks.
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Define angel funding. 
-:

Define briefly any e,ie type of e-wallets.
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t10lQ2) Write any two out of three (5 marks each):

a) Explain the SEBI regulations on starfup

b) Differentiate between micro-credit and

c) Discuss any five functions of NABARD

Q3) Write any one out of two:

a) Develop a plan to deal with the
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Define value chain

Define chit funds.
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b) Discuss the business model of payntfft banks'



Q4) Writc any one out of 2:

a) "A" is an angel inve
investment of Rs. 2,

following:
i) What is the
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value of the business at the end of 3 years

5 culate the angel investors equtty percentage'
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contemplating to raise additional funds of Rs. 20,00,000

way of preference

iv) To raise - Rs.6,00,

10%; Rs.8,00,000
shares; Rs.6,00,000 by debt @

e shares

. Which option is best? t10lThe company is in 6
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35.0030.0,0-,.,''30.00Initial investment (Rs. Lacs)
48.004$:00 ., .0050.00Estimated annual sales (Rs. Lacs)
21.0018.00 ,'u:t''+.00 ,,,: t6.70duction(estd)(Rs. LacsCost of pro
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payback period.
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an annual return of
Calculate &

worth after 3 years?

Qs) a)

a machine to increase the

capacity. The four machines under consideration.

relevant details estimated yearly expenditure and are

given below. A11 are for cash. Corporate rate .99%
(inclusive of @,1 0o/o, deduction cess

higher edttcation cess @1%) t10l
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